d [y [pb/GeV]

had

t

d°c/ d

Ratio to ATLAS

2107t

|
o
e

1073

0.5

13000 GeV pp
T T

| I T I | T [ T T T T T T T = 9
: top . ) 15
- P; (ATLAS semileptonic ttbar) 13
B =
| m ATLAS Iz
§ —A— Pythia 6.428 370 E A
— --8-- Pythia 6.428 391 — ‘9!
B @ Pythia 6.428 default ] ;
B « Pythia 8.308 default 1%
>
E_ .\_\~ —EE
©
= _lm
— = <
— =0
— Jo
B —Ho
B 1™
—i
i —=
X
— — ‘E
- e
L 06
= - <
B -1 O
- e
[%2]
o
— e
- -1 O
= | | , | | | | , | | | | S
:l I I I ' [ T T T T |:
= =P
1
B —0.5
| 1 1 N 1 1 N | . 1 N L ) | . | ) l
0 500 1000

p"* [GeV], Iy™ in [0.7,1.4]



	Contents
	Page 1


